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Instruction:
(i). There are in all 30 guestions in this question paper. All questions are
; compulsory.
(ii}y Marks allocated to every guestion are indicated against it.
(i) Question No. 1 is multiple choice type questions. Question Nos. 2 to 6
are of one mark each. Question Nos. 7 to 15 are of two marks each.
Question Nos. 16 to 24 are of three marks each. Question Nos. 25 to

30 are of four marks each.

1. T WE S IS TUE $ TN ¥ UK fawe i ™ ) w9 fodea s 3R it #
foan| 1x6=6
Four options are given in each part of this question. Write the correct answer in

your answer book.

(&) g Geaa &1 pH A AT & -

The pH value of acidic solution is-
(i) pH > 7 (ii) pH < 7
(iiy pH=7 . (iv) pH=14
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(@) T B TS T & -

The chemical formula of ethanol is-

()  CH,OH (i)  CH,CHO

(i) C,H.OH (iv) CH,COOH
(M) wHaE 7 & o anr 4§ fesht v o wiafers avan &, a8 &-

(i) @i (i) uReRan

(i) gt ' (v) ofees

The human eye forms the image of an object at its—

(i) Cornea (i} Ins
(i)  Pupil | (iv) Retina
(a) A Rvamr &1 s1 A & :
(i 3 (i) TRR
iy T E (iv) 3
The SI unit of electric potential difference is-
(i) Ohm (i) Ampere
(i)  Volt (iv) Joule
(3) Pt § ¥ o @ oig A &
() e (i) FEEE
iy  forerfem (iv) SR
Which of the foltowing is an animal hormone-
(i)  Auxin (i)  Cytokinin
(i) Gibbereliin {(iv) Thyroxin
(= amar-iT &1 g sEad - .
() oETeEsmEaRs (i) e
(i) A (iv) @&F
The main constituent of bio-gas is- .
(i) Carbon dioxide (i) .Ammonia
(i)  Methane (iv) Ethane
2. 39 g B AW Ty el Y = a1 W ga srawn § 9 sl 2 1
Write the name and symbol of a metal that exists in liquid state at normal
temperature.
233 (HUI) . : [2]
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3. o9 & e ge 3 @2 | 1
what is the basic event in reproduction?

4. 3rgad v & ar I9an e _ 1
Write two uses of Concave mirror.

5. gaad eRTfe dgagr 0 1
What is alternating current?

6. IO FHatl & T A AW B a1t & i & A ferRad 1
Write the name of two elements used as nuclear energy.

7. 3T e & IR GF T 2 3gan e | | | 2
Write the chemical formula. and two uses of Baking Soda.

8. o i) o T ugh & amaR R F= diftreet St amgesor Hiswe- 141=2
Nominate following compounds on 'the basis of Organic Compound Nomenclature
System : |

iy 1y
(®) H—C—C—OH (=) H—tl:—c:'O
. H H H |
9. (&) 3rag = F wfaa &AM & am el 1
Write the name of hormone secreted from Thyroid gland. .
() TR ¥ 9 T a1 T &1 A felRed | 1
Write the name of enzyme found in Saliva.

10. TThaTq 4T EaT &? AW Ypae @ q FRitieE g o feam darde? 2
What is blood pressure? What is the approximate value of normal systolic pressure
and diastolic pressure?

11. 3ifes oot aen wimdt oo ve-eR & v wor e &2 2
How are inv'oluntary actions and reflex actions different from each other?

12. 20Q q%ﬁﬂa’s’rﬁéﬁgﬁsm'& 5A faga emr 21 30iﬁﬁaogﬁ3m=fma§im
1 (I 2
An electric iron of resistance 209 takes a current of SA. Calculate the heat
developed in 30 second. '
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(@) & grda & YaT v g @Y e aa T8 e § 1

Why don't two magnetic field lines intersect each other?
(@) 3 o g @ g | 1
What is Ohm's law?

(@) AeEd IR e g fec Rg AR Pwawd
1

What is the far point and near point of the human eye with normal vision?

(@) 2.5 D & AT A & Brasw g a1 A 1
Find the focal length of a lens of Power 2.5 D. :

Thiera faoes & 39 gar e €7 JETER0T SaR AHesd | 2

What do you mean by Nuclear Fission? Explain with example.

FT B & 79 (I IS TR ffE)- 1+1+1=3

What happens when (Write only chemical equation)-

(®) Th-ad Ale IR Y Yaifed 3 J 21

Steam is passed over red-hot iron.

(@) Hrisr switaess @ bafafrm gt & T m R s 21

¢« Manganese dioxide is heated with aluminium powder.

(m fkeie ot o o eRgieciRe 37 @ fvar & A &)

Bleaching powder reacts with dil. hydrochloric acid,

3yt (OR)
frfeiRaa @ 32w gfea aRwfla SIR- ) 1+1+1=3
Define the following with examples- '
(F) Wi
Roasting
(@) Fram=
Calcination
(M) FHTH
Amalgam
17. (&) gl smad wrol & v smad # sufters et & T foRed) 1
Write the name of elements present in first period of modern periodic table.
233 (HUI) . 4]
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19.

20.

21.

22.
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(@) UF T BT AR (9= 2, 8, 7 &1 37act RN F SHHT ST a2 FE qad|
1
The electronic configuration of an element is 2, 8, 7. Write its period and
group in the periodic table.
() UH A 'M' INTd GRON & FE) GHE &1 390 Hawnss o g foRkad| 1
An element 'M' is present in third group of the periodic table. Write the
formula of its oxide.

Frefofaa & somiFe fog e s - 1+1+1=3
Draw the electronic dot structure of the following-

(@) NH, (@) H,S (m F,

() TIURTIOT BF RURMOT F HIY FI1 FHH 87 , 1

What do you understand by self-pollination and cross- pollination?

(@) eHiehT vd Iwafchit g § 30 o aeed €2 Td &l U6 30T dforel 2
What do you understand by unisexual and bisexual flower? Give one
example of each. http://www . ukboardonline.com

AT BIRTDT (J) BT e o s o 399 FeioiRea Wil 1 29igd:  1%+1%=3

(i) > (iy gt (iii) . dfAPIE

Draw a neat & clean diagram of a neuron and label the following parts in it-

(i) Nucleus (i) Dendrite (ii) Axon

) AT (OR) |

JaDHI] (AWB) B TRT vd fsantafts o aofw S | 3

Describe the structure and functioning of 'Nephron’. :

() TS T gRT IR 1 arey &Y utely & = fafad ‘ 1

' Write the name of two plants raised by vegetative pi'opagation.

(@) FAAIT 9 GHSY 3T B IATER0T THR ARSI | 2
Explain the Analogous and Homologous organs with example. .

& 713 oRayr IR\ # oFT HER- 1%+1%=3

In the given circuit diagram, Calculate-

200 10Q

N
o
~
>
7k
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(@) uRuy &1 pa wferre

Total resistance of the circuit

(@) oy # yaifea g ar

Total current flowing in the circuit

23. 5 cm TETS BT BIS fd 30 cm aaﬁrﬁmas%éraaﬂaﬁmémm#mcm AR
oy #| wfafde & Rufar, skt aen smer sma difswe) 3
An object S cm in length is placed at a distance of 20 cm infront of a convex
mirror of radius of curvature 30 cm. Find the position, nature and size of the
image. '
Jal (OR)
m%@aﬁqﬁwaﬂﬁmm#? ﬁaqqﬂeﬁmmmﬁaﬁwmma%mm
o A &7
What is meant by spectrum of light? Which colour of spectrum deviates the
most and which the least?
24. TR ARIHOZE X NS 0 B el &2 e i fofkad | s R o
L] 3
How Ozone layer is formed in our atmosphere? Write chemical equation. What
is the importance of ozone layer? '
25. () T & & o & 7w o) . 1
Write the name of two allotropes of carbon.
(@) e Mo o & arelt @t aren fasor & @2 B 1
Aqua regia is prepared by fresh mixture of which of the two acids?
() FerRaxor sifufEar @ar &2 ve JaeRor difswe| 1
What is neutralisation reaction? Give one example.
(m) wifdaw oig o U & 9a A g T @ ST R? 1
Why is Sodium metal kept immersed in Kerosene oil?
26. (B) THG ST T &? ITTEVT B WHHFA| | - 2
What is homologous series? Explain with example..
233 (HUI) [6]
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(@) e sfimear ¥ a0 oo auwd &2 B sfifear o suefa aen svafaa gared
AR 2

What do you mean by Redox reaction? Identify the substances that are
oxidised and reduced in the following reaction-

ZnO + C - Zn + CO
3/t (OR)

(@) Fr= o mafas 3@ fofea- 2
iy fedsre ot
(i) R 3B ARA
Write chemical formula of the following-
(i) Bleaching Powder
(ii)) Plaster of Paris

(@) o R Gl oot fofad- - ' 2
(i) SUHISID
(i) ¥ETRoT
Write short notes on following—
(i) Detergent
(?1) Corrosion

27. (F) ARG (A1) T GHor F ST T FA &7 2
What do you understand by Regeneration and Budding?

(@) T s, Fiea 3 e veR R @ we afeel ' 2
How is the process of pollination different from fertilisation? Clarify.

28. fra TR 1 ARG 3T TR 3G ST  Srafaf S wEEEd| 4

Explain the principle and working of electric motor, by drawing its labelled diagram.

3G (OR)
(@) 2 R aeal A @21 B ¥ HAT: 60W, 220V TAT 100W, 220V 3ifdd 1 T W
| forae aferrer afts gmm? 2

Two electric bulbs A and B are marked 60W, 220V and 100W, 220V
respectively. Which one of the two has greater resistance?

() faer &Ry & andia waE W smenRa & gReal & A fofedl | 2

Write the name of two devices based on heating effect of electric current.

233 (HUI) £7] _ [ P.T.O.
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29. () g AW T &? 397 Frarvr & fe few wor & v o1 wadm a7 2
What is hypermetropia? What type of lens is used for correcting
hypermetropia?

() wbrer, arg N 1.5 JUAHIS B B9 B @T | WAL FRaT & | B H yare 3 aer Fn
B2 (arg § wrer B At =3x108ms) - 2
Light enters from air into a glass plate of refractive index 1.5. What will be

- speed of light in glass? (speed of light in air=3x10%ms™!)

30. (&) fooa) 3n=ew @ @7 & a4t &1 WRevT gl oA arfge? 2
What is Chipko-Movement? Why should we conserve forests?

(@) F5 & FdETa W Tur THERUNT Bl DY IEVT TR THHIFA | 2
Define non-renewable source and renewable source of energy with example.

394 (OR) _

(@) ‘3 Feeoia aar sk Frelleia el & o e de 2
What do you mean by ‘biodegradable’ and 'non-biodegradable' substances?

(@) & U B VY D TT AT &P TS| 2
Why do we need to manage our resources? Explain.

* Kk X
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